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1 104663410052228 WEE =1t AXDHFRFE 246 197.4 80.78 1 LK EX
2 104663410052196 OEE =1t AR ERTTE 240 200.4 80.06 2 LK EX
3 104663410052330 Xt =1t AR HRITE 217 2158 77.93 3 LK B
4 104663410052320 Eali=pui =1t AX SRR E 221 207.4 77.38 4 L3R B
5 104663410052204 £ hva =1t AR PRI E 219 209.6 77.34 5 L F B
6 104663410052193 ZRE =1t AR RITE 235 186.6 76.86 6 LK B
7 104663410052326 h—7% =1t AR PRI E 249 165.2 76.23 7 LK B
8 104663410052135 H—I8 =1t AR PRI E 232 183.4 75.74 8 LB
9 104663410052230 FREE =1t AR ERTTE 216 199.6 75.14 9 IFEE
10 104663410052322 MEzh =1t AR HRITE 234 176.6 75.06 10 LK B
11 104663410052239 X1 BB =1t AX DRI A 235 173.4 74.74 11 LK B
12 104663410052301 TN =1t AR RITE 217 195.6 74.70 12 LB
13 104663410052249 F=HIT =1t AR PRI E 233 172.8 74.25 13 LK B
14 104663410052200 FEEHE =1t AR E 224 183 74.08 14 LK B
15 104663410052313 BEE =1t AR HRITE 240 159.6 73.54 15 LK EX
16 104663410052276 X —1f =1t AR HRITE 227 173.8 73.21 16 LK B
17 104663410052283 53R =1t AR PRI E 236 161.2 72.99 17 LK B
18 104663410052158 B =1t ARPHRITE 216 184.2 72.67 18 LA
19 104663410052114 Bk =1t AR ERTTE 231 163.8 72.41 19 LK EX
20 104663410052191 BRI =1t AR PRI E 223 168.4 71.54 20 LB
21 104663410052267 FI =1t AXDHFRFE 223 166.8 71.29 21 LK B
22 104663410052348 TER =1t AR HRITE 221 167.8 71.05
23 104663410052263 0,50 =1t AR ERTTE 222 161 70.16
24 104663410052243 TS =1t AR ERTTE 216 160.2 68.83
25 104663410052194 = =1t AR ERTTE 215 160.2 68.63
26 104663410052309 THRE =1t AR ERTTE 214 155.6 67.70
27 104663410052118 LEE =1t AX DRI IE 208 160.6 67.30
28 104663410052329 Sk =1t AR A 209 159 67.24
29 104663410052354 FE0T =1t AR HRITE 220 142.6 66.82
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30 104663410052202 BER =it AX DR [E 2HE 221 140.4 66.66
31 104663410052368 S =1t AX DR [E 2 HE 210 153.8 66.61
32 104663410052296 YEER =it AX DR [E 2HE 212 151 66.56
33 104663410052242 HE =it AX DR [E 2 HE 214 146.8 66.29
34 104663410052349 HER =1t AX DR 1E 2 HE 221 137 66.12
35 104663410052351 B2 =1t AX DR 1E Ex=ki 217 140.2 65.83
36 104663410052133 A2iE =1t AX DR 1E 2HE 218 135.6 65.30
37 104663410052365 F& il =it AX DR 1E 2 HE 218 133.4 64.94
38 104663410052362 =18 =it AR HRF[E 2HE 211 138 64.28
39 104663410052156 oK 4 =it AX DR [E 2 HE 208 139.6 63.94
40 104663410052221 1 B =1t AX DR 1E 2HEH 210 111.8 59.89
44 104663410052323 AGd =it AX DR 1E 2HE 217 HroE 4340 BENF
41 104663410052308 FE =1t AX DR 1E 2HE 211 e 42.20 BRME
42 104663410052316 INEEN =it AX DR 1E 2HE 208 oz 41.60 EEE:
43 104663410052300 = =it AX DR 1E 2HE 207 HroE 41.40 BENF
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1 104663410052182 s 21t LXDHRFETE FELHH 237 185 77.00 1 FAFER
2 104663410052199 ki 21T AXOHETE El3==k] 232 174.8 74.37 2 HLFE
3 104663410052215 X 22 it LX 5577 E|3 4=k 231 164.6 72.54 3 FARER
4 104663410052346 S Zit AXOHRTE E£HH 217 175.8 71.53 4 HLFE
5 104663410052311 K== 2T AXOHRTE El3==k] 221 168.6 71.18 5 HLFE
6 104663410052291 ZEMAMA S AXOHETE El3e=k] 222 158.4 69.74 6 HLFE
7 104663410052147 Eil =it LXDHFET[E FELHH 218 160.6 69.30 7 FASRER
8 104663410052139 T 21t AXOHRFE E£HH 231 139.4 68.50 8 HLFE
9 104663410052145 Tk S AXOHRT[E El3e=E] 206 164.8 67.57 9 HLFE
10 104663410052185 A S AXOHRT[E El3e=k] 215 151 67.16 10 HLFE
11 104663410052223 XA 21t AXOHRFE E£HH 221 142.4 66.98 11 HLFE
12 104663410052336 15 2T AXOHRET[E El3==k] 216 148.6 66.98 12 HLFE
13 104663410052134 RET =it LX 55T (] E|3 4=k 205 152.4 65.38 13 FAFER
14 104663410052310 %E 21t LXDHFETE FELHH 210 142.6 64.82 14 FASRER
15 104663410052345 EEE =it LXDHFETE FELHH 207 144.8 64.57 15 FARER
16 104663410052244 T3 it AXOHRETE El3e=k] 205 140.4 63.46 16 HLFE




